2/13/12

12a. Show that (A + B)C = AC + BC, where A, B and C are matrices and the sum A+B and products AC

and BC are defined.
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Each dij can be rewriten as the sum of the dot
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17. Show that (a) (A+B)! = A4B!'and (b) (AB)' = B'A!, where A and B are nxn matrices.
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Properties of inverses
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Properties of Determinants

lal= 1af)

EROA (€lemne vx‘\‘cwy Vo epevatiay) . (et A ’-(qc‘j),\xn
Ene

Le & A — R,

(7

0) 2; 3 05) lei— ¢ ey =5 R
A;—;B A:%Ql&, lero A——J’—ﬁﬁ
[B) =k (&) AL = | B)

(A = -(R»)
ENE \';::::\.,1
O\‘:.

Nxn efex the,

f & v o Hdegondd, 0T, 6 LT
[A\ = &y Gyy - ay\n :

(A = (a4 +IB)
[ABR| = [4]-1B), AL cve Asmare mMadvice, Msm

lea) = &7 [nl

| AL (A= 4
[ A\

[A| =



Eigenvalues and Eigenvectors

Consider an equation of the form Ax = Ax, where A=(aj;)nxn @ matrix of knowns, X=(X;)ax1 a vector of

unkowns, and A is an unkown scalar.
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If the equation is satisfied for x other than the null vector, then each such x is an eigenvector,

also called characteristic vector of A, and A is an eigenvalue.
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Extra: not covered in class

9. Show that A + (B+C) = (A+B) + C, where A, B and C are matrices of order mxn.
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11. If AB and BA are defined, what can you say regarding the sizes of A and B?
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